Algebra 1 1-6A

Relations Part 1: Converting

Name

pd

Express each relation as a table, a graph, and a mapping. Then determine the
domain and range.

1. {(413)/(—‘2f 2)1 (5/ —6)}

2. {(51 -7)/ (ﬁl/ 4)/ (O, _‘5)/ ("2/ 3))

Express each relation as a set of ordered pairs, Describe the domain and range.

1 $2.50
2 $4.50
5 $10.50
8 $18.50

Express the relation in each table, mapping, or graph as a set of ordered pairs.
30. 1

29,
9.
—2 | -6
7 | -3

Now Complete IXL - Q1, Q2

Domain

28.

>

Range

Relations Part 2: Independent/Dependent Variables

Identify the independent and dependent variables for each relation,

31,

4

3. Increasing the temperature of a compound inside a sealed container increases
the pressure inside a sealed container.

4. Mike’s cell phone is part of a family plan. If he uses more minutes than his share,

then there are fewer minutes available for the rest of his family.

5, Julian is buying concert tickets for himself and his friends. The more concert

tickets he buys the greater the cost.

6. Astore is having a sale over Labor Day weekend. The more purchases, the greater

the profits.

Now Complete IXL — Q3




Relations Part 3: Identifying Functions

Determine whether each relation is a function. Explain,

1, Domaln Range
3422, (-1, 5),5,2), 2 —-4) 4 y= %x —
- 3 Determine whether each relation is a function, Explain.
ST & 2 20, Domaln Range 24, Dowain Range 22
[5) X N 'S
T =
3 3 -8 i b 7
. -2 \_‘3:}“* 8 5 | -3
Q X E] 5
7.0 ViL 8 v 24, y 25, 7 ¥
NERENN ¥ N -
Ealin 3
o % r3) % 4 2 &)
ll SNRNNE 9 -7
{ -3 -5 ) X
Now Complete IXL — Q4 and Q5
Relations Part 4: Function Notation
If f(x) = 6x + 7 and g(x) = »* — 4, find each value,
) f(—3) 12, fim)
14. ¢(5) 15. g(a) + 9
17. fig + 1) 18. f(2) +5(2)
If f(x) = —2x — 3 and g(x) = x? + 5, find each value.
33. A1) 34, f(6) 35, ¢(2)
36. g(—3) 37. o(—2) + 2 38, f(0) — 7

Now Complete IXL — Q7



Applications:

10. G“/j@ REASONING The cost of sending cell phone pictures is given by y = 0.25x,
where x is the number of pictures that you send and v is the cost in dollars.

a. Write the equation in function notation. Interpret the function in terms of the context.
b, Find f(5) and f{12). What do these values represent?
¢. Determine the domain and range of this function.

For Exercises 21~23, use the graph at the right.

21. Name the ordered pair at point A and explain

what it represents. W

22, Name the ordered pair at point B and explain 35
what it represents. 3 g

2

23, Identify the independent and dependent
variables for the relation.

Amount Earned ($)

10 -
5 - ]

1] 123 456 7 8
Number of Dogs Walked

For Exercises 24-26, use the graph at the right.

24, Name the ordered pair at point C and

explain what it represents. s D
25. Name the ordered pair at point D and g 5
explain what it represents, z 4 AN
£,
26. Identify the independent and £,
dependent variables. oy ¢

0 12 3 45
Years Since 2000

32, SPORTS In a triathlon, athletes swim 2.4 miles, bicycle 112 miles, and run
26.2 miles. Their total time includes transition time from one activity to the
next. Which graph best represents a participant in a triathlon? Explain.

Graph A Graph B Graph C
g g g
£ £
o o B
Time Time Time

PHYSIDLOGY A typical adult has about 2 pounds of water for every 3 pounds of
body weight. This can be represented by the equation w = 2 73—), where w is the
weight of water in pounds and b is the body weight in pounds.

. Make a table to show the relation between body and water weight for people
weighing 100, 105, 110, 115, 120, 125, and 130 pounds. Round to the nearest
tenth if necessary.

b. What are the independent and dependent variables?
¢. State the domain and range, and then graph the relation.

d. Reverse the independent and dependent variables. Graph this relation.
Explain what the graph indicates in this circumstance,



43.

44,

57.

A school’s cafeteria employees surveyed
250 students asking what beverage they drank
with lunch. They used the data to create the

table below.

~ Beverage | Number of Students
milk 38
chocofate milk 112
juice 75
water 25

What percent of the students surveyed
preferred drinking juice with lunch?

A 25% C 35%

B 30% D 40%
Which of the following is equivalent
to 6(3 — g) +2(11 — ¢)?

F 2(20 —g) H 8(5-9)

G 8(14 — ¢) J40—¢

Determine which of the following relations is
a function.
F {(=3,2), 4 1), (-3,5)}
G (@2 1), (4,~1), 2, 6)
H {(~3,-4) (=3,6), (8, ~2))
J 16, -1), 3, =), (=2, ~2))

45. SHORT RESPONSE Grant and Hector want to
build a clubhouse at the midpoint between
their houses. If Grant’s house is at point G and
Hector ‘s house is at point H, what will be the
coordinates of the clubhouse?

y o
°

B

I
Oy
|
o

o]
L.
Ix

48. If 3b = 2b, which of the following is true?
Ab=0

_2
]?»b—3
Cbh=1

_3
Db--n2



Algebra 1 1-6A Name KQ/\/ pd

Relations Part 1: Converting

Express each relation as a table, a graph, and a mapping. Then determine the
domain and range.

1, {(41 3)! (_“2/ 2)/ (5/ '-(7)} 2. ((5/ “7)f (ﬁlr 4)/ (O, —'5)/ “2/ 3)}

A . e
3 L.l (IR T T )
'LZ T {=t=rr
< |6
7
3
6

Express edvh relation as a tab e, a graph, and a mapping. Then determine the

Express each relation as a set of ordered pairs. Describe the domain and range. ( 2 ) >
Cl.2~$g 97 28. ; (_1‘3)'(.—,,1), [ﬂl-l)’ l, ,(2.!
(z.4*
(5,0-% e £a] 0,1,25
16.5) | !
(38, 1 $2.50 5 - ) , 33,
peghrs, ) [ [ | Re gl
ﬂ . {2.\5,‘1_5’ I//-f, 5 $10.50
1§53 8 $16.50

Express the relation in each table, mapping, or graph as a set of ordered pairs.

29 30.  Domain Range 31. y
8 g
2| -6
7 3

.-y, (5.9),(-274), (1.73)
Now Complete IXL - Q1, Q2




Relations Part 2: Independent/Dependent Variables

Identify the independent and dependent variables for each relation, — ()() . l M
3. Increasing the temperature of a compound inside a sealed container increases ,0
the pressure inside a sealed container. Y - JJressvire
4. Mike’s cell phone is part of a family plan. If he uses more minutes than his share, ‘U
then there are fewer minutes available for the rest of his family. = (x) - M n lef
- vl 71 b
5. Julian is buying concert tickets for himself and his friends. The move concert \ 9 Fom
tickets he buys the greater the cost. _
6. A 'ly‘ Al Labor D kend, Tt 1 h r(ﬁ)’#"ﬁvjhf
« Astore 18 having a sale over Labor Day weekend. The more purchases, the greater
e profits, 4 hescs. o D ty)- cost
1e profits. T (X)" gurcheses

D (\,) - {.)/U-Y—hL .
Now Complete IXL — Q3

Relations Part 3: Identifying Functions

Determine whether each relation is a function, Explain.

1, Domain Range 2 e Rano
\ 2 6
5 -
// ¢ [o s | AVO
e 10
Nemrsneresres
1122 15,6209 M 4y=L-s Yesb
Determine whether each relation is a function. Explain,
5 \y e & Y 20, Domaly Range 21, Domain Range 22, EeE e
g 0 X Y ) ) .
4 —p——tr s g 4 6
e EEEEsS o |
o EmE T 2o
4 \ J \ /
° X ’ AD ()] 5
7 i 8 - | 28 L 1wt \ /l 25, ¥y .
{ Y Y = [
it ; ’] - -
/ 0 ¥ O, X 4 2 i \ Ji o X
[ Te ’;"“& 9 -7
-3 -5 o] X
AN S S O
Vi |
\/4 LS A0 V444 e [

Now Complete IXL — Q4 and Q5



Relations Part 4: Function Notation

If fx) = 6x + 7 and g(x) = a? — 4, find each value,

A f-3)= 6-3)47=-Ml 12. fim) = 6() +_7_ ’ g -+
14, g5) o)1 =31 o @ +9 gla)= a”~ 9
17. g+ 1) 18. f(2) + g(2) .
s(at!)r? £(2)= 602)+7= 14 9(2) =@#z)-9=0°
ret+ 7
iy 1 1o <19

If f(x) = —2x — 3 and g(x) = x* + 5x, find each value.
- 2
33. ’f(“l);_ZC',)—g = " 34' f(6) 7—2(6)-3 - 'g— 35‘ g(Z); Z 7"5[‘2); Ll f-—/a .:/ Lf‘

36. g(—3)= (3)+5(-3) 37 g(—2) +2 38. f(0) — 7
C'.Z' g (2) *Fs(2)+2. -2lo)-2 -7
L’“/O*Z. @_3_7:_/0
-4

Now Complete IXL — Q7



Applications:

10, B&E@ REASONING The cost of sending cell phone pictures is given by y = 0.25x,
where x is the number of pictures that you send and y is the cost in dollars,

a, Write the equation in function notation. Interpret the function in terms of the context.
b. Find f(5) and f(12). What do these values represent?
¢. Determine the domain and range of this function,
For Exercises 21-23, use the graph at the right.
21. Name the ordered pair at point A and explain

what it represents. 4
22, Name the ordered pair at point B and explain z ¥
what it represents. T O 3
£ 2 e
23, Identify the independent and dependent ‘g »
variables for the relation. g 15
= 1

0 123 435 6 7 8
Number of Dogs Walked

Z| A:CII ;)
OWMK 1doy, 5

= (5:2%) foe

Wl §dogs o

(23) Trel:dog 5
Dep: 4

For Exercises 24-26, use the graph at the right.

24. Name the ordered pair at point C and

@ C:CB,"Z>

explain what it represents. 6 D ~ = 2003%, Sabs = ﬁ?' oy IO
= o ! !
25. Name the ordered pair at point D and g’
i it repr £ 4
explain what it represents, E, / @ D s (S, é)
26. Identify the independent and 2, Y€ a0 o0
dependent variables. DA ¢ ; T, 2005, C ok =
o 123 45 [ - : GV
Years Since 2000 <@ L 7/‘5 Srac
‘ D(’ P~ So E 24
Sl ~Fast _medlive,

32. SPORTS In a triathlon, athletes swim 2.4 miles, bicycle 112 miles, and r(in

26.2 miles, Their total time includes transition time from one activity to the

next. Which graph best represents a participant in a triathlon? Explain.
Graph A Graph B Graph C

Y 4 g
5 5 -
7 g g
(] Q o]
Time Time Time

PHYSIOLOGY A typical adult has about 2 pounds of water for every 3 pounds of
body weight. This can be represented by the equation w = 2 g— , where w is the
weight of water in pounds and b is the body weight in pounds.

a. Make a table to show the relation between body and water weight for people
weighing 100, 105, 110, 115, 120, 125, ahn'(’j 130 pounds. Round to the nearest
tenth if necessary: _ %ol y w9 walevrwoht

b. What are the independent and dependent variables?

¢. State the domain and range, and then graph the relation.

d. Reverse the independent and dependent variables. Graph this relation,
Explain what the graph indicates in this circumstance,
24 '

@(/0(}' Tyt ysno”

Wadfer wght,

]
N 133

oo 153+
105 | @870
110 | 73 Wi
HS |77 w
\20 | 80
,25 83

57

)30

200

D yovs reals Baﬂ(y
R pos reals Wsint



43. A school’s cafeteria employees surveyed

250 students asking what beverage they drank
with lunch. They used the data to create the
table below.

" Beverage | Number of Students
milk ) 38
chocolate milk 112
juice 75
water 25

| 250

What percent of the students surveyed
preferred drinking juice with lunch?

A 25% casw 1% -7—‘—”
B 309 paw

&

44, Which of the following is equivalent

(0 6(3 — o) +2(11 — )7 = [E-69 2279
06(3 —g)+2(11 ~g) jwmsg

G 8(14-gnz-8g J40-g

57. Determine which of the following relations is
a function.
F{(£3,2),¢ 1), (&5 ro
H {(=3,~4),(=3,6), (8 —2)} O

CIR5, 1), (3, =2), (=2, =2))

e

45. SHORT RESPONSE Grant and Hector want to
build a clubhouse at the midpoint between
their houses. If Grant’s house is at point G and
Hector’s house is at point H, what will be the
coordinates of the clubhouse?

kAN
'fii =4 10} | 4 |x 6“-3)
. VY
)
ok
—G - 8

46, If 3b = 2b, which of the following is true?

Ab=0

=2
Bb—-s
Cb=1
_3
D b««2



